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Mr. Schlansky Geometry

Corresponding Parts of Similar Triangles

1. In the diagram below, /A 2&F is the image of AABC after a clockwise rotation of 180° and a
dilation where 45 =3, BC'=55, AC=45 DE=f, #02=9,and £F=11.
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2. Given that ADEF ~ AHIJ , which is the correct statement about their corresponding sides?
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3. As shown in the diagram below, A% and C2 intersect at E, and A" || BD. A
Given AAEC ~ A BED, which equation is true? G
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4. Scalene triangle ABC is similar to triangle DEF. Which statement is false?
1) AB:BU=DE.EF

2) ACDF=BCEF

3) LACE = LLFE

4) LABC = LEDF



5. In the diagram below, AOQRX ~ ATUV . Which of the following statements is not true?
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6. In the diagram below, A ABC ~ ARST.

Which statement is not true?
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7. In the diagram below, AMOY is the image of ANOE after a dilation followed by a reflection.
Which of the following statements is true?
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8. In the diagram below of right triangle AED, BC | DE.

Which statement is always true?
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